Python Challenge

For 5 points on your next exam: Come to the front of the room and roll a die. If you get a 

1: Code the Binary Search Algorithm into Python
2: Code the Insertion Sort Algorithm into Python
[image: ][image: ]3: Code the Bubble Sort Algorithm in Python
4: Code the Greedy Change Making Algorithm into Python

Show your sort algorithm works by sorting a=[3,4,6,7,2,2,5].
Show your search algorithm works by searching a for 7.

[bookmark: _GoBack]Show your   change making algorithm works by making change for n=699 cents.
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ALGORITHM 5 The Insertion Sort.

procedure insertion sort(ay, az, . .., a,: real numbers with n > 2)
for j :==2ton

i=1

while a; > a;

Otoj—i—1
aj_k = aj_k-1
ai :==m
{ai, ..., a, is in increasing order}
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ALGORITHM 3 The Binary Search Algorithm.

procedure binary search (x: integer,ay, az, ..., a,: increasing integers)
i == 1{i is left endpoint of search interval}
J :=n {j is right endpoint of search interval}
whilei < j
m = [(i + j)/2]
if x > a,, theni:=m+ 1
else j :=m
if x = a; then location := i
else [ocation := 0
return [ocation{location is the subscript i of the term @; equal to x, or 0 if x is not found}
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ALGORITHM 7 Greedy Algorithm for Scheduling Talks.

procedure schedule(s; < s < --- < s, start times of talks,
e] < ey < --- < e, ending times of talks)

sort talks by finish time and reorder so thate; < ey < ... < ¢,
S:=0
for j:=1ton

if talk j is compatible with S then

§:=SU{talk j}

return S{S is the set of talks scheduled}

ALGORITHM 6 Greedy Change-Making Algorithm.

procedure change(cy, c2, .. ., ¢y: values of denominations of coins, where
cp > ¢y > --- > ¢y n:oapositive integer)
fori:=1tor
d; := 0 {d; counts the coins of denomination ¢; used}
while n > ¢;
d; :=d; + 1 {add a coin of denomination ¢; }
ni=n-—c
{d; is the number of coins of denomination ¢; in the change fori = 1,2,...,r}





image4.emf

